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e Except this answer book no extra sheet will be given, so write
to the point and do not strike the written answer.
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e Before answering the questions, ensure that you have been
supplied with a complete and correct question paper. No
claim in this regard will be entertained after examination.
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General instructions:

i) All questions are compulsory.
ii) Write the correct option in objective type questions.
iii) Marks of each question are indicated against it.

TS H
Section -A
Chemistry (THTIT ATE)

Q.1.9E] T YR 3R e Rl & o wgeTde gt 1 a&g 1 &
HEA 62

A)HR

B)EUTATAR

C)fa¥uTTeT

D)faRTH Tl

Q.1.What is The shortest distance between the initial and final
position of the object?
A) Difference
B)Transfer
C)Displacement
D)Resting place
1 marks



Q.2.&af &1 Tl T 3178k aoi F I1fd e s A ATl F TeAdl
§34TWGI1F|T%|

A)mreafas
B)3TqRrea s
C)&atafas
D)Rreafas

Q.2. A body moving faster than the speed of sound is said to be
moving with a .............. speed.
(A) Supersonic
(B) Subsonic
(C) Isosonic
(D) Ultrasonic.
1marks

Q.3.5 T HATIh 3PS FAT §?

Q.3. What is the standard unit of force?
1marks

Q.4.9%dT & T&cd I 0T T Aol gl

Q.4. The value of the acceleration due to gravity of the Earth is

1marks
Q. 5. 3THDYUT (A) T raear # T a&] 1 a1fdst Foll Y gl o
HRUT (R) : el a6t 21 36T a1fe & RO ST Sroft g1l @ 39 arfarst St
fgilssertion (A): A body at rest has zero kinetic energy.

Reason (R) : The energy possessed by a body because of it's
motion is called kinetic energy.

i)37F YT A 9 FRUTR



Il TWET & | HROT R, &Hr
TET SATEIT T & |
B): %l A d SRUT R Il TEY &, el HRUT R FUA A &1 Y A wigt
CXGIN
C): UT A HEI § dUT SRUTR ITeld & |
D): T A ITeld & AT

$IRUT RTET ¢ |
A: Both A and R are true and R is the correct explanation of A.
B: Both A and R are true and R is not the correct explanation of A
C: Aiis true and R is false.
D: Ais false and R is true.

1 marks

Q. 6. 579 THE BT A Teh &I (SFRIT )T HieT ST §, Y el & HROT 16T
TSI G [TTSE |

Q.6. When a carpet is beaten with a stick, dust comes out of it.
Explain.
2marks

Q. 7. AT FATE?

Q.7. What is power ?
2marks

Q. 8. FIS TT TaTH IALAT T Telall YR il § I4T 2 fAIe d& 0.1 ms-2
% Teh GHTT caI0T F Told! &1 TRepeled HIToTT]|
(a)9Te T TS AT AT (b)dd HT 775 gl |

34T

Uch LolATTaT TEUT T AT YA Sldl & 3R T GHTT caluT & T Tl
§U 10 fAsTe # 40 km /h FT TS 9T AT § SHPT caluT AT AT |

Q.8. A bus starting from the rest moves with a uniform acceleration
of 0.1 ms-? for 2 minutes. Find the (a) speed acquired ; (b) distance
travelled.



OR
Q.8. A train starting from a railway station and moving with uniform
acceleration attains a speed of 40 km h-' in 10 minutes. Find its

acceleration.
3 Marks

Q. 9. €afal ST gaerdr JUT digdr H 3R Sd18v|

Q. 9. Distinguish between loudness and intensity of sound.
3 marks

Q. 10. E\TEIFB-ﬁa'TEﬁ?JoHId arel dlbcdlchqw ol &l &7 8191, I
i) Teh a&q T GCTHT 2 AT Y feam S|
i) 3T ¥ Srer 1 g2 eI 3reraT et I R & e
iii) et JEIIT & G AT a’rwﬁramﬁ:trawv
OR
Q.10. IEAT HT TAE T I[Ecary cal0T Gl Y TAg I T caoT el
Heraﬂusw%"lwmkg@rqmmuam qTFrancraa“quW:ﬁr R

T gIAT?

Q. 10. What happens to the force between two objects, if
(if) the mass of one object is doubled?
(ii) the distance between the objects is doubled or tripled?
(iii) the masses of both objects are doubled?
OR
Q.10.Gravitational force on the surface of the moon is only 1/6 as
strong as the gravitational force on the earth. What is the weight in
Newtons of a 10 kg object on the moon and on the earth?

5 marks
(TATTST ATE)
2T 11: dTIHTA d6aT A hUll T AT I AT THIG ST &2
A) e g1 B) §H T &
C) St g

D) Tl dgd el g



Q 11:what is the effect of increase in temperature on the speed of
particles?

A) Decreases

B) remains the same

C) Increases

D) None of these

1 marks

2T 12 :37eWT 0T 9T ahiel TT HTAA BT 872
A) H0T

B) &<

C)-afera

D) $1H & IS T8

Q12:what is the charge
on Alpha particles?
A) Negative
B) Positive
C) Uncharged
D) None of these
1 marks
95T 13: BRI # ST o &9 H ahled AT I Tl T STt 82
Q13 which gas is used
as a fuel in homes?
1marks

92T 14 Freligsdl fAH0T

_ &

Q.4. Colloidal is a.......... mixture:
1 marks

9% 15:37371eheeT A: TRATY] YeTe T T oI gohrs ¢ Sif TAiaeh
sfAfRar 7 Hrer o B
SROT R: e Tcdl & WA U TATT gl & |



A): AT AT HRUT R ST Ll &, HROT R,FAT A FT &1 TET SATEAT T
el
B): %Y A T ST R &1 TET &, olfheT SHRUT R ST A & TeY cITET T8 1
HITI
C): UT A HEI § dUT SRUTR ITeld & |
D): ST A ITeld & AT

HRUT R B
Q 15. Assertion (A): Atom is the smallest unit of matter that take
part in chemical reaction.
Reason ( R): Atoms of all elements are same.

A: Both A and R are true and R is the correct explanation of A.
B: Both A and R are true and R is not the correct explanation of A
C: Ais true and R is false.
D: A is false and R is true.
1 marks

92T 16. ITHAT 7 G2 T STl ST FAT glaT &2

Q.16. How does the water kept in an earthen pot (matka) become
cool during summer?
2 marks

U7 17. ITE dcd T Z= 3 g Al dcd bl GATolehdT AT gI9IT ?2dcd ol ATH &Y
o

37erar

& GATOT TSt & Shgehi T e s feam ar g -
X Y
qelT 6 6

mj?r 6 8
X 3 Y I gegAT IEaT A1d Rfav|

Q.17.If Z=3, what would be the valency of the element ?Also,name
the element.
Or



Composition of the nuclei of two atomic species X and Y are given
as under:

X Y
Protons = 6 6
Neutrons= 6 8

Give the mass numbers of X and Y . What is the relation between
the two species?
2 marks

gesT 18. A« T 31801 g cIredr i
(a) T fafereT

(b) Rreer gerd

(c) HIcISS

(d) fHessT|

Q.18.Explain the following:
a) Saturated solution
b) Pure substance
c) Colloid

Or
Differentiate between homogeneous and heterogeneous mixtures
with examples.

3 marks

gsT 19:cUTEIT HITAT :-
) REATOY I
il)gcTHATT &
ii GATYTAR

Q.19. Explain:

i) Atomic number

ii) Mass number

iii) Isotopes

3 marks

2sT 20. AT f@d & Tafas g7 fafau -
(a) HIATH FeIRSS



(b) HRRTH FaRESS
(c) PR =ATS¢e
(d) T TATAIH FeiRTSS
(e) FTerRIA FrEfac|
372rar
etafad gerat & AreR gega@e 1 IREdT HIfAT -
a) WIS, C,H,
b) T 30T S,
¢) PIEPRY U](IRAT] gecdHA=1=31), P,
d) gSsIFailReh 31FeT,HCI
e)rsfea 315eT, HNO,

Q.9. Write the chemical formula of the following:
a) Magnesium chloride

b) Calcium oxide

c) Copper nitrate

d) Aluminium chloride

e) Calcium carbonate

Or

Calculate the molar mass of the following substances :
a) Ethyne, C;H,
b) Sulphur molecule ,

Ss
c) Phosphorus molecule,P, ( Atomic mass of
phosphorus =31)
d) Hydrochloric acid ,HCI
e) Nitric acid, HNO;

5marks

St faare
(Biology)
Q. 21. TAT 7 39TEAUT &Y IET I FIT g 82
A)&T STt
B)&X &UT
C) FeiRITthel

D)3 | 15 =Tt



Q. 21. What is the green pigment found in leaves called ?
(A) green pigment

(B) green particle

(C) chlorophyli

(D) none of these.

Q. 22. IrSUIcHST T fohaT fohdsh GaRT HYee Bldl 82

A) TR

B) tiasf@d

C) ITRhI3T A

D) forTaetet

Q. 22. By whom is the process of transpiration done ?
(A) stomata

(B) epidermis

(C) cavities
(D) Lignin.

Q. 23. YHI2T GLAVUT & T fond 319 1 3maTanar giar &7

Q. 23. Which gas is required for photosynthesis ?

Q. 24. ISAIEH HITAHT ST ETS

Q. 24. Lysosomes are called ............... of the cell.

1 marks

1 marks

1 marks

1 marks
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Q. 25. Assertion (A): a chemical change cannot be reserved easily.
Reason (R) : In a chemical change a new substance is formed.

A: Both A and R are true and R is the correct explanation of A.
B: Both A and R are true and R is not the correct explanation of A
C: Ais true and R is false.
D: A is false and R is true.
1 marks

Q. 26. HITAHT T isT AT 39T TTolleR § ? IR FAT?

Q. 26. Which organelle is known as PowerHouse of the cell ? Why ?

2 marks

Q. 27.3U S FAT R 82
3HYar
FIfsah (zeTa ) FT AT FT FA7 §?
Q. 27. What are the functions of stomata ?
OR

Q. 27. What is the specific function of cardiac muscles ?

2 marks

Q. 28. el JehR & TRl 20T & T Sy 3T TS |
Q. 28. Diagrammatically show the difference between three types of

muscle fibres.
3 marks

11



Q. 29. TATET FT IAAT F TATT WA & Tl WG, AT 33 o 3TINT Hl
el AT

Q . 29. Compare the use of manure and fertilisers in maintaining
soil fertility.
3 marks

Q. 30. UTEY HITAFBTIHT TAT ST PIARTN H Jelell U |
372qar
UIhRATET SHITRAAIT JehRATET HITAAIINT & ohd Teh et Bl 52

Q. 30. Make a comparison to write down ways in which plant cells
are different from animal cell.
OR
Q. 30. How is a prokaryotic cell different from a eukaryotic cell ?
5 marks
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